
SawStop ®

OWNER’S MANUAL

Industrial Mobile Base

Model MB-IND-000



1. Never place fingers, toes or other body parts under the mobile base. The base may suddenly lower on you and 
cause a severe injury. 

2. Do not attempt to use or move the saw on an inclined surface. The saw is very heavy and difficult to stop on 
an inclined surface. Attempting to use or move the saw on an inclined surface could result in a severe injury.

3. Make sure the saw is fully lowered to the ground and stable before operating the saw. Otherwise, the saw could 
move unexpectedly and cause a severe injury.

4. Do not raise the saw higher than necessary to move it. Instead, raise the saw only enough to provide sufficient 
ground clearance. 

5. Be sure to unplug or disconnect the saw from power before moving or repositioning it. The main power cord or 
the power outlet could be damaged if the saw is not disconnected from power before moving it. 

1  SawStop Industrial Mobile Base

Safety

Warranty
SawStop warrants to the original retail purchaser of the Industrial Mobile Base accompanying this manual that 

the mobile base will be free from defects in material and workmanship for TWO YEARS from the date of purchase. 
This warranty does not apply to defects arising from misuse, abuse, negligence, accidents, normal wear-and-tear, 
unauthorized repair or alteration, or lack of maintenance. 

Please contact SawStop to take advantage of this warranty. If SawStop determines the mobile base is defective in 
material or workmanship, and not due to misuse, abuse, negligence, accidents, normal wear-and-tear, unauthorized 
repair or alteration, or lack of maintenance, then SawStop will, upon proof of purchase and at its expense, send 
replacement parts to the original retail purchaser necessary to cure the defect. Alternatively, SawStop will repair the 
mobile base provided it is returned to SawStop, shipping prepaid, within the warranty period.

SawStop disclaims any and all other express or implied warranties, including merchantability and fitness for a 
particular purpose. SawStop shall not be liable for death, injuries to persons or property, or incidental, consequential, 
contingent or special damages arising from the use of the mobile base.

This warranty gives you specific legal rights. You may have other rights which vary from state to state.



 To safely place the saw into the mobile base, you will need at least four people to lift the saw off the floor and 
then lower it onto the mobile base. Have one person lift each corner of the cast iron table top. If your saw has 
an extension table, have the two people on the right side of the saw lift on the extension rails near the outer 
corner of the cast iron extension wing, not at the end of the extension table. 

 If a fifth person is available, it may be easier to have four people lift the saw and the fifth person slide the base 
under the saw.

 Make sure the mobile base is centered 
underneath the table saw and that the 
foot pedal is in the front. The saw should 
sit on the two “straps” on the interior of 
the mobile base, and the front of the 
cabinet should be touching the inside of 
the front face of the mobile base frame 
(see Fig. 1). 

 Your mobile base has been engineered 
to lift saws with or without extension 
tables. You do not need an additional 
arm extending out from the mobile base 
to support the extension table.

Ne
ve

r p
la

ce
 fi

ng
er

s,
 

to
es

 o
r o

th
er

 b
od

y 
pa

rts
 

un
de

r t
he

 m
ob

ile
 b

as
e.

! W
AR

NI
NG

1.  Never place fingers, toes or other      
body parts under the mobile base.
2.  Always use the saw and the mobile      
base on a level surface. 
3.  Do not continue to step on the foot     
pedal once the upper limit is reached.
4.  Lower the saw before use. Never use      
the saw when it is raised off the floor.

! WARNING

Low

Raise

Never place fingers,
toes or other body parts 

under the mobile base.

! WARNING

1.  Never place fingers, toes or other

body parts under the mobile base.

2.  Always use the saw and the mobile       
 

base on a level surface.

3.  Do not continue to step on the foot

pedal once the upper lim
it is

 reached.

4.  Lower the saw before use. Never use

the saw when it is
 raised off th

e floor.! WARNING

Lower

Raise

1. To move your saw with the mobile base, step down on the foot pedal several times to raise the saw off the floor 
and onto the wheels (see Fig. 2). Do not raise the saw higher than necessary to move it. Instead, raise the saw 
only enough to provide sufficient ground clearance. Do not continue to step on the foot pedal once the upper 
limit is reached.

2. Push the saw to its desired location.

3. Step down on the left side of the release 
lever to lower the saw back to the floor 
(see Fig. 2).

SawStop Industrial Mobile Base  2

Using Your Mobile Base

How to Place the Saw in the Mobile Base

Fig. 2

release lever -
step here to 

lower

foot pedal -
step here to 

raise

Fig. 1

straps that 
support the 

saw

the front of cabinet 
should be touching 

the inside of the 
front face of the 

mobile base frame



Lower

Your mobile base includes a release lever that allows you to adjust how fast the saw lowers. The lever should be 
adjusted so the saw gently descends back to the floor when the release lever is touching the release stop. If the saw 
descends too fast, descends too slowly, or does not descend at all, adjust the release lever as follows. 

1. Loosen the three screws in the release lever with a 3 mm hex key (see Fig. 3). Do not remove the screws. 
Once the three screws are loose, the release lever will rotate around the center screw. 

3  SawStop Industrial Mobile Base

Making Adjustments to Your Mobile Base

Lower

release lever screws

2. To decrease the speed at which the saw lowers, rotate the release lever counter-clockwise a small amount 
(see Fig. 4). To increase the speed at which the saw lowers, rotate the release lever clockwise a small amount 
(see Fig. 5).

Fig. 3

release lever

Lower

Fig. 5Fig. 4

3. Once the release lever has been rotated, tighten all three screws and test how fast the saw lowers to the floor. 
If necessary, repeat steps 1-3 until the release operates as desired. If you have adjusted the release lever to 
the end of its adjustment range and your saw still descends too quickly or too slowly, proceed to steps 4-7. 
Otherwise, no additional adjustment is needed and you can skip steps 4-7.

Perform the following steps only if necessary after following steps 1-3.

4. Remove the three screws in the release lever. 

5. Slide the release lever off the hexagonal shaft on which it is mounted.

rotate counter-clockwise 
to decrease speed of 

descent

rotate clockwise 
to increase speed 

of descent

release stop



● Keep the jack clean and free from saw dust. 

● Use SAE 30 oil to periodically lubricate the points shown in Fig. 7. 
To access the lubrication points, remove the three jack cover screws 
using a Philips head screwdriver (see Fig. 8) and then remove the 
jack cover.

●  The jack must have the proper amount of hydraulic oil to function 
correctly. If the jack is not lifting or maintaining the weight of the saw 
properly you may need to remove the jack from the mobile base and 
add hydraulic oil as follows:

1. Make sure the saw is lowered to the ground. Remove the center 
release lever screw shown in Fig. 8 using a 3 mm hex key. 
Remove the three jack cover screws, and the two jack mounting 
screws using a Philips screwdriver.

2. Slide the release lever (with the attached release adjustment 
plate) off the hexagonal shaft. Remove the jack cover. 

3. Place a flat head screwdriver on top of the jack lifting piston (see 
Fig 7) and push the piston down as far as possible. Remove 
the jack by tilting the top forward and sliding the hexagonal 
shaft back out of the hole in the mobile base frame. 

 4. Once the jack is removed, place it in an upright position 
and remove the extension spring. Completely depress the 
foot pedal. Remove the rubber filler plug shown in Fig. 7 by 
pulling it out with your fingers or prying it out with a flat head 
screwdriver. Add hydraulic jack oil so that the oil level is just 
to the bottom of the filler hole. Use only hydraulic jack oil. 
Replace the filler plug and extension spring and reinstall the 
jack by reversing the steps set forth above.

6. After removing the release lever, you will see a release 
adjustment plate (see Fig. 6). That plate has a hole with 
12 notches. To decrease the speed at which the saw 
lowers, slide the adjustment plate off the hexagonal shaft 
and rotate the plate counter-clockwise one notch (1⁄12th of 
a turn) before sliding it back onto the shaft. To increase the 
speed at which the saw lowers, slide the adjustment plate 
off the hexagonal shaft and rotate the plate clockwise one 
notch (1⁄12th of a turn) before sliding it back onto the shaft. 

7. Reinstall the release lever on the hexagonal shaft, and 
screw in and fully tighten the three release lever screws. 
Test the speed at which the saw lowers and repeat these 
steps if necessary. 

SawStop Industrial Mobile Base  4

Making Adjustments to Your Mobile Base

Fig. 6

Raise

Hydraulic Jack Maintenance

Fig. 8

   
   

   
   

   
 p

la
ce

 fi
ng

er
s,

 to
es

 o
r o

th
er

t  
   

   
   

   
ts

 u
nd

er
 th

e 
m

ob
ile

 b
as

e.
 

   
   

   
   

   
 s

 u
se

 th
e 

sa
w

 a
nd

 th
e 

m
ob

ile

b 
   

   
   

   
a 

le
ve

l s
ur

fa
ce

.

   
   

   
   

   
 t 

co
nt

in
ue

 to
 s

te
p 

on
 th

e 
fo

ot
 p

c 
   

   
   

   
 th

e 
up

pe
r l

im
it 

is
 re

ac
he

d.

   
   

   
   

   
 th

e 
sa

w
 b

ef
or

e 
us

e.
 N

ev
er

 u
se

t  
   

   
   

 w
he

n 
it 

is
 ra

is
ed

 o
ff 

th
e 

flo
or

.

!
W

AR
NI

NG

Ra
ise

Lo
wer

jack cover
screws

jack mounting
screws

center
release 

lever 
screw

release 
adjustment 

plate

Fig. 7

lubrication 
points

filler 
plug

lifting 
piston

extension 
spring

hexagonal shaft



1

2

34

4

5

6

7

8

8

8

11

9

10

9

10

10

9

12

13

13

13

13

14

14

14

14

15

15

15

15

10

9

9

9

9

10
9

17

16

18

19

20

29

21
22

23

1.  Never place fingers, toes or other 
body parts under the mobile base.
2.  Always use the saw and the mobile       
base on a level surface.
3.  Do not continue to step on the foot
pedal once the upper limit is reached.
4.  Lower the saw before use. Never use      
the saw when it is raised off the floor.

! WARNING

24

Never place fingers, 
toes or other body parts 
under the mobile base.

! WARNING

Never place fingers, 
toes or other body parts 
under the mobile base.

! WARNING Never place fingers, 
toes or other body parts 
under the mobile base.

! WARNING

25

Never place fingers, 
toes or other body parts 
under the mobile base.

! WARNING

25

Raise

Lower

26

27

9

25

25

SawStop ®

OWNER’S MANUAL

Industrial Mobile Base

Model MB-IND-000

28

Industrial Mobile Base Exploded View

5  SawStop Industrial Mobile Base



Industrial Mobile Base Parts List

No. Description Part No. Qty.
Complete Mobile Base Assembly MB-IND-000 1

1 Front Saw Strap MB-IND-001 1
2 Rear Saw Strap MB-IND-002 1
3 Shaft Linkage Assembly MB-IND-003 1
4 Linkage Bar MB-IND-004 2
5 Bell Link MB-IND-005 1
6 Jack Linkage Assembly MB-IND-006 1
7 Jack Cover MB-IND-007 1
8 Friction Pads MB-IND-008 4
9 M8 Flat Head Shoulder Screw MB-IND-009 14

10 Felt Bumper MB-IND-010 9

11
M5x12 Button Head Philips Screw Assembly (includes one 
M4.75x7.7 lock washer and one M4.75x10 washer) MB-IND-011 3

12 Frame MB-IND-012 1
13 3” Caster Wheel MB-IND-013 4
14 M8x20 Carriage Bolt MB-IND-014 16
15 M8 Nylon Hex Nut MB-IND-015 16
16 Hydraulic Jack (includes item 17) MB-IND-016 1
17 Foot Pad MB-IND-017 1

18
M6x12 Button Head Philips Screw Assembly (includes one 
M5.75x9.8 lock washer and one M7.25x16 washer) MB-IND-018 2

19 Release Adjustment Plate MB-IND-019 1
20 Release Pedal MB-IND-020 1
21 M8 Hex Nut MB-IND-021 1
22 M8x25 Socket Head Screw MB-IND-022 1
23 SawStop Logo Label MB-IND-023 1
24 Main Warning Label MB-IND-024 1
25 Finger/Toe Warning Label MB-IND-025 4
26 Lower Label MB-IND-026 1
27 Raise Label MB-IND-027 1
28 Owner’s Manual MB-IND-028 1

29
M5x12 Button Head Socket Screw Assembly (includes one 
M5.25x8.25 lock washer and one M5.35x10 washer) MB-IND-029 3

SawStop Industrial Mobile Base  6



SawStop, LLC
9564 S.W. Tualatin Road
Tualatin, Oregon 97062

www.sawstop.com

Main Phone - (503) 570-3200
Service - (503) 582-9934

Fax - (503) 570-3303
Email: info@sawstop.com

December 2007

Copyright SawStop, LLC
All Rights Reserved.

Updates of this manual may be available at www.sawstop.com.


